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ĐỀ 2

I. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is 

pronounced differently from that of the others in each group.

Question 1:A. wealth B. growth C. smooth D. breath

Question 2:A. native B. arrange C. gallery D. tasteless

II. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose main stress position 

is placed differently from that of the others in each group.

Question 3:A. happen B. promote C. release D. destroy

Question 4:A. bacteria B. scientific C. alternative D. respiratory

III. Mark the letter A, B, C, or D on your answer sheet to indicate the word OPPOSITE in meaning to

the underlined word.

Question 5: It’s incredible that his new song leads the Billboard hot 100 chart only in 3 days.

A. beyond belief B. believable C. implausible D. unbelievable

Question 6: She finds herself more confident after standing on stage many times.

A. independent B. assured C. brave D. fearful

IV. Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to 

the underlined word.

Question 7: Acupuncture originated in China and has been used as a traditional medicine for thousands of 

years.

A. created B. introduced C. began D. developed

Question 8: Are there any alternatives that might provide better options for gay people?

A. choices B. decisions C. judgements D. votes

V. Mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that 

completes each of the sentences.

Question 9: __________ they didn't have enough money, they still decided to buy the house.

A. Because B. Therefore C. Despite D. Though

Question 10: We heard the news as soon as we ____________ the car radio.

A. went over B. switched on C. grew up D. turned down

Question 11: Chopin was considered to be one of the greatest Romantic piano ____ of the 19th century.

A. singers B. writers C. composers D. poets

Question 12: Eliza denied ____________ on the test, but the teacher clearly saw him copying someone 

else's answers.



A. cheat B. to cheat C. cheating D. to be cheated

Question 13: A great number of benevolent businessmen have ________ significant contributions to the 

cause of assisting those who are in need.

A. done B. taken C. made D. given

Question 14: Mathew Webb was the first person ___________ across the English Channel.

A. to swim        B. swimming        C. swim        D. who swims

Question 15: The new student in my class is ____________ good at both English and French.

A. reason B. reasoned C. reasonable D. reasonably

Question 16: You can access the Internet, download programs and information ____ can help you 

understand the material and widen your knowledge.

A. who B. that C. which D. when

Question 17: These pesticides are environmentally _________, so they’re hardly ever used.

A. harm B. harmless C. harmful D. harmable

Question 18: Dinah felt ____________ when she heard her brother shouting while she was studying.

A. sick B. confident C. relaxed D. annoyed

Question 19: - "What's your plan tonight?" -  “____________”

A. There is a great movie. B. I think I'll relax at home.

C. I really don't like the cinema. D. Work was busy today.

Question 20: Nam: “Would you rather have a male or a female secretary?”

           Lan: “____”

A. I want to have a female one.

B. The number of female secretaries is increasing.

C. The number of female secretaries is staying the same.

D. Female secretaries outnumber male ones.

VI. Mark the letter A, B, C, or D on your answer sheet to indicate the part that is incorrect in each of 

the sentences.

Question 21: There were some good programmes on the radio, none of that I listened to.

A. on the radio B. listened to C. that D. were

Question 22: He used to playing football professionally, but he had to quit because of an injury.

A. playing B. professionally C. had to D. because of

VII. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the

correct word/phrase that completes each blank.

The majority of places experience shorter days and lower temperatures during the winter season. In 

most cases, there is a (23)__________availability of food for animals.

In response to the lack of food, animals have developed a (24)_______of strategies. There are some 

animals that store food in order to ensure that they have access to it during the winter months. There are a 



few birds and squirrels that are (25)______of storing nuts and seeds in trees and other hiding places. These 

birds include bluejays and woodpeckers. In close proximity to their lodges, beavers keep tree branches 

submerged in water. During the winter, honeybees (26)_______an adequate amount of honey to sustain the 

hive.

During the warm months, many animals consume more food than they actually require to get 

themselves ready for the winter season. They store the excess food in their bodies as fat, which is a form of 

fat storage. (27)________there is less food available, such as during the winter, the bodies of the animals 

absorb fat to provide them with energy.

Question 23:A. decreased B. included C. suggested D. planned

Question 24:A. enough B. abundance C. variety D. methods

Question 25:A. ability B. capable C. prepare D. technique

Question 26:A. consume B. interest C. absorb D. produce

Question 27:A. Because B. And C. Unless D. When

VIII. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate 

the correct answer to each of the questions that follow.

Today, I would like to start a conversation about the issue of the planet's temperature rising, which is a 

problem. The first thing that we will discuss is the connection that exists between fluorocarbons and the 

ozone layer. You are probably aware that the ozone layer serves as a shield that surrounds the earth and 

protects it from the sun. As a result of its ability to block potentially hazardous ultraviolet light from the sun,

it is essential to all forms of life. On a regular basis, natural chemical processes are responsible for the 

destruction of ozone, which is a form of oxygen.

The depletion of an excessive amount of the ozone layer is currently the source of the problem. When it 

comes to the depletion of the ozone layer, scientists have a strong suspicion that certain chemicals, such as 

fluorocarbons, are contributing components. How exactly do we put fluorocarbons to use? Spray cans and 

cooling systems are the most common applications for this material. Some of the reported ozone losses may 

be due to the chemical pollution that these fluorocarbon particles are causing. Recent research, on the other 

hand, has shown that the sun itself is contributing to the thinning of the ozone layer. For the next time, we 

will delve deeper into that recent study.

Question 28: What is the speaker’s main point in the passage?

A. The warming of the earth

B. The loss of the ozone layer

C. The relationship between fluorocarbons and the ozone layer

D. The use of spray cans.

Question 29: The word “it” in paragraph 1 refers to________.

A. issue B. the earth C. the sun D. ozone layer

Question 30: The word “suspicion” in paragraph 2 is closet in meaning to_______.



A. grateful B. careful C. doubtful D. wonderful

Question 31: The most important purpose of the ozone layer is ___________.

A. to provide fluorocarbons

B. to shield the sun

C. to destroy natural chemicals

D. to protect the earth

Question 32: Which of the following is NOT true?

A. Fluorocarbons are used to produce spray cans and cooling systems.

B. Fluorocarbons can cause the depletion of the ozone layer.

C. The temperature of the earth’s atmosphere is increasing.

D. Ultraviolet light can be bad for your health.

IX. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is CLOSEST in 

meaning to the original one.

Question 33: We enjoyed the festival despite the rain.

A. Although it was raining, we enjoyed the festival.

B. We enjoyed the festival when it started to rain.

C. Without the rain, we still enjoyed the festival.

D. The rain prevented us from enjoying the festival.

Question 34: “I'll take the children to the park," said the husband to his wife.

A. The husband asked the wife to take the children to the park.

B. The husband offered to take the children to the park.

C. The husband insisted on taking the children to the park.

D. The husband requested to take the children to the park.

Question 35: I cannot send her the invitation because I don't know her address.

A. If I know her address, I can send her the invitation.

B. I couldn't send her the invitation if I didn't know her address.

C. If I knew her address, I would send her the invitation.

D. I could have sent her the invitation if I had known her address.

Question 36: His mother wanted him to be a doctor. He wanted to become a music composer.

A. His mother wanted him to be a doctor because he wanted to become a music composer.

B. His mother wanted him to be a doctor so he wanted to become a music composer.

C. His mother wanted him to be a doctor but he wanted to become a music composer.

D. If his mother wanted him to be a doctor, he wanted to become a music composer.

X. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is BEST written 

from the words/phrases given.

Question 37: It/claim /more measure/should/use/protect/ tower



A. It will be claimed that more measures should be used to protect the tower.

B. It will claim that more measures should been used to protect the tower.

C. It will be claimed that more measures should use to protect the tower.

D. It will claim that more measures should be using to protect the tower.

Question 38: It/be/sweet cake/that/I/could/eat/it.

A. It was so a sweet cake that I could eat it.

B. It was such a sweet cake that I couldn’t eat it.

C. It was such an sweet cake that I couldn’t eat it

D. It was so a sweet cake that I could eat it.

Question 39: Pop Idol/successful/entertainment/programme/ever.

A. Pop Idol can be ever a more successful entertainment programme.

B. Pop Idol had never been more successful than it is now.

C. Pop Idol is the most successful entertainment programme ever.

D. Pop Idol is one of the most ever successful entertainment programmes.

Question 40: I/wish/you/tell/this

A. I wish you told us about this.

B. I wish you would tell us about this

C. I wish you had told us about this.

D. I wish you have told us about this.


